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Part Contents No. of Question Nos. Page Nos.
Questions | From To From To
(I) | Child Development and Pedagogy ) 30 1 30 3 12
(n) Language I (Only One Language)
As selected by the candidate as medium of instruction in the 30 31 60
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Urdu 30 31 60 29 32
(III) Language II - English L3 30 61 90 33 36
| (V) [EVS 30 121 | 150 | 44 | 52

Read the instructions in Tamil & English at Page No. 56 last page of this booklet.
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U@S-1 / PART-I
GBeng Gubun@ wHmib SHLISSHE
CHILD DEVELOPMENT AND PEDAGOGY

QUuEduie 30 eflamsser o draren. SiemensE) elanmss@rs@h ellenL waflss CauamBLb.
There are 30 questions in all in this Part. All questions are compulsory.
1. : ‘@@W@-I PHmsW eumpsems <jdmg aumpeder o UGHow BLALGés

(1) podlQd BLALBés sigw sgrsmren Hoarasmar QaremGerarg.

(A)  yersuuL (B) 2usms (C) emgmyewT (D) safl&gieud

——— memory consists of the unusual memory traces concerning one’s
previous life or lives that can be partly or completely retrieved.

(A) Photographic (B) Episodic (C) Paranormal (D) Iconic

2. @ GLHmS flo euriganssenLen -ed ranuemg Carssmed @nHs sTasamss GN&ELD
ranueng ANHS STramssrd “He came” eranush@ uHors “He camed” erenm)
sanéng. Qg _ ssrar T(HS5EETLEH.

(A) Qseflellerd Cuase

(B) spd peopuliled smssons CLsse

(C) WenasuL Curgenwlu®HSgiHe

(D) GepuL QurgmLULBHESSW

A child knows that adding -ed to certainfwords'putsithem in the past tense. As a
result, instead of saying “He came”the child says “Heé"camed”. This is an example
of '

(A) Babbling

(B) Telegraphic speech

(C) Over generalisation

(D) Lesser generalisation

3. eraug Sml Gypossaian aurpeile Aflwsrs eamd CougulL S
L@Haer wHOID saflGgielwrar u@HaeaTrs UGSSUILLL @@ Qswduammeal
GIEEIETE
(A) oas@Eeisse (B) euemsliuBEgIs0
(C) Qumrgewliu®h e (D) Henaray

_ refers to a process in which regions of one’s life space are subdivided
into smaller but distinct areas and regions in the life space of the smaller children.

(A) Motivation (B) Differentiation
(C) Generalization (D) Memory

B [ Turn Over
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4.

6.

QeucvQaflar GHemssEpssnar Hamanble, sreGCsmail, (GereumeareldpieT THS
em 2 uGsita) aurQwmfs Coreller & @b GuDTEE ? -
(A) GNELE wern (B) Qeés e _Geuafl

(C) euyeLmW D) yfpgGsTare

In Wechsler Intelligence Scale for Children (WISC), which one of the following ‘is
not a subtest under verbal test ?

(A) Coding

(B) Digit span
(C) Similarities

(D). Comprehension

R Hssa Eisse HaEssLIED, Qe Ths R PHEHSS EMHS
wgSigerd Srellen semanss gnymsssaemwuleantbd CFwOUBHSSHMSTEGLD.
(A) BHevereysd @Hlliy - (B) Mye QmdHapanm
(C) QarEdzse - (D) - sifleuarEsLD
___________is a technique of problem solving that involves considering all possible
solutions without making prior evaluative judgements. - '

(A) Mnemonics (B) Algorithm
(C) Chunking (D) Brainstorming

___ iy s cranaflEans Darelld Howdeiiu BLE®S WwhHmiD
QuoursGeu GoDHS Slateiler HERsamipw BLEmsEmar augayl L b Q&wiw
vweaTURSgIeIs GHlssng). EORCT TRl |
(A) enngmier ellenatay (B) (Ufwié Csmtin®
(C) aemrGer ellenera] (D) "5 Heoaudinssio

states that, behaviour that occurs at a naturally high rate of frequency

maybe used to reinforce behaviour that occurs at a naturally low rate of frequency.
(A) Hawthrone effect (B)

Premack principle
(C) Halo effect (D)

Conditioning
L rQiyémendl ér —_ Gergenan erenug) Cargomend@ 2 U u@ueuflLib R
ugfman siafibgl g@an sribs LOGuY elamssmer aiq igaapaid
<UL sda sewis Hapelamean pamrs Uflbg Qsrerer 2-5UBNG WPWIGILD.

(A) LB 2ABILLED Caitey B) Ho6 Al i Carsanar
(C) CsliLé wpmbd wHsse Corgenen (D) UL Wi53DH Gergenan
In Torrance’s test the subject is presented with a picture and asked to

think of as many questions as he can, that would help to better arid
event presented in the picture. erstand the

(A) Pass-along test
(C) Ask and guess test

(B) Jigsaw puzzle test
(D) Picture completion test
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8.

GemaumeueneupBles sefl muar Hawenfle) Hneer SieTedl (P WUTSS eTE ?

(A)  <jeur QFwyd Ceusid

(B)  @euir Gewiw apiyuyd Lerfluer Sy

(C) safl pur Qb s emorer Liew

(D) <eupmed uGoum Qewdsamer Qauiw (PIgULd

Which of the following doesn’t measure the level of intelligence of an individual ?
(A) The speed at which he does

(B) The difficulty of the task he can perform

(C) The harder the task a person can perform

(D) The variety of task he can perform

augiapl L flape Blsajb GHuEl® GFrde wpywrg o Glearere
shueuiEar e srosdnE grearey Causudis ufloafiss allampslamear.

(A) Heveowrer GenL Clouafl =1L aienemt
(B) wmrdled @erQeuafl i L cuenemt
(C) Heowrear clfgsb i eiemenT

(D) wrHe ez oL lemeunT

In the learners tend to respond fairly rapidly for long periods of time
because the occurrence of reinforcement is so unpredictable.

(A) Fixed interval schedule
(B) Variable interval schedule
(C) Fixed ratio schedule

(D) Variable ratio schedule

[ Turn Over
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10.

11.

12.

‘LIS Loeuhenp 9 euwigl SDTiEET Qemprs meubgeterriadT. QbS HBSDS
e LmanT eThs umTdamgemwl LwerBgSemmi ?

(A)  ueTy (B) Guwir

(C) eNaurssiamss (D) Hlpwb

9 year old children have placed ‘fruits’ together. According to Bruner, what’s the
term that is used to describe the concept ?

(A) Characteristic (B) Name

(C) Label (D) Colour

GTETUIGUTEET SDMed cUaaTey CFTLhis SryewTOmeui.
(A) &Gy - &Crr (B) QCrwen & ammii_fr
(C) UYeb & Lomiden (D) 194 & ames_

were the originators ofythe learningscurves
(A) Crow-Crow i (B) Bryan and Harter

(C) Peel and Marx (D) Biggi and Hunt

MDD srsdd smela Qswssinriy Col s <R TOEEGD Sred -
(A) 12 amphsEsEEs Gns (B) 14 amas@éel Gy,
(C) 18 eumprasEnsEl WGng (D) 20 eumprusenéLy Gne

At this age the heart beat of foetus becomes audible, during Pregnancy :

(A) After 12 weeks (B) After 14 weeks

(C) After 18 weeks (D)  After 20 weeks
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13.

14.

LSg Yevsl smar <@ MUSSTED HEDEUTSE 2 GTeTan erammid digenen LiFid
DUEGID UM oidsions o greng; erandpmen red, erafled 1GwirGeguilenm sapmiiig
Sleuasilen euemtéHlenay ereameua B)(mEseLD.

(A)  w@mUQUTHeT Qewdur’ ® Hane

(B) Gewiss whasw BHlene

(C) yealuss Qeweum Hlenev

(D) »pwé Qswour’ Hlenew

Ravi says that 10 biscuits bunched together are less than when they are spread
out. As per Piaget what may be his stage ?

(A) Concrete operational stage
(B) Pre-operational stage
(C) Sensory motor stage

(D) Formal operational stage

@ GOUEGLL 2 L el @Gl smen SHn SHeuaSEMET &IOS UILDTE 'rf;]smsmmah@n:o
Qualemer Bear@w <CsCurap@smm 2 Lalwa Haoullea bleneaea)smpbd
Hlenevwimeng|

(A)  ems@eiliy Qe alleen sHpd_ (B) GHISED

(C) @mhiflenamiiy (D) | Hl@ey FMHS HHHED

The tendency to recall information learned in a parti(l:ular physi.ological situation
more accurately when one is again in that physiological stand is

(A) Motivated interactive learning (B) Interference

(C) Consolidation (D) State-dependent learning

N e g e b FriHs Ll m el g en ellemareurs Cpiyigwimer 21l oy M & & e L e

psSlanseurer SlpenLowment Gurgeneangeer sramid GLITés <Pafss) QUBHEDF).

(A) smSH WD LGUUTIGY (B) . uruQur@mer uGluriey

(C) eau@Luemp LGUUTLIGY (D) eumiGwrfl uELumiey

There has been a growing tendency to view effective instruction as synonymous
with direct instruction, as a result of ____ of teaching.

(A) Meta-analysis (B) Content-analysis

(C) Classroom analysis (D) Verbal analysis

[ Turn Over



BRT - 1 8 A

16.

17.

18.

o oI MG 60T SH(HSSILILIIG TETUG 2 (@HEOUET PGS 4 @GLD.
(A)  rF Gar (B) QL
(C) @uur rCar (D) memey Hlanew

is the moral arm of the personality according to Freud’s theory.
(A) Ego (B) 1d
(C) Super ego (D) Conscious

_________ pang, @M QuImE igar Qup Cewdgamwudmar ddag
Qurgeurer LWL g emer sTamy wHD eufsaid Qeuduaugsmen Uilbs
Qamrerer @uiewr ¢ seafl pufler LT 8 Hpaflarenowm@L.

(A) Qeweurl@® @epur®

(B) Qeweuri@® Qurmsgise

(C) Qeweurli@m ANCeur@h 2 emrige

(D) Qeweur( 2jegeilemeno

is a person’s inability to perceive how an object can function in ways
other than its stated or usual application.

(A) Functional disability
(B) Functional fixedness
(C) Functional apperception

(D) Functional immobility

____ eramueuflen &MHSHILILL ameﬁllueb Greigl BLgansudl e Coirwem
<efled HGL.

(A) &rireev F. co&lesreuiT (B) J.B. eurl_gen

(C) &nri& (D) Qe enLeui

According to ____ ‘Psychology is the positive science of behaviour’.
(A) Charles F. Skinner (B) J.B. Watson

(C) Charak (D) James Drever
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21.

— Poo sifla aeried Qeudfaode, shniepd Bepeser U
G]urr.@i_agamm GN&S GO Ceweour®sdr whmb Guomdlulema LWL (D& &)
euemir&S Bleneoud g Qeseliium g e GM&ESmg.

(A)  yoaflugs Heae el uELAuTEEr Qewdur @ Haw

(€ prQewdun ® Heae | ?(D.') I‘@@mm'ﬁéﬁ Gﬁ&@@ﬁma}

stage of cognitive develoi:n_;nent marks the emergence of symbolic

functions and the use of language as'a means of representing environmental
events and objects.

(A) Sensori motor (B) Concrete operational

(C) Pre-operational - (D) Formal operational

CTETUIeUIT GrIBIEND &HLG eTeim SHme Hspajsmer elauflés ‘SHm
SED' Ty USSHmen euiqeuemingasi. ;
(A) e 15Cam (B) . B.F. avélene
(C) E.L. griiament & (D) ammil apmirCeir

coined the phrase ‘learning set’ to describe the phenomenon of learning
how to learn. !

eirggpnr Jgren  QEn
(A) Alfred Binet (B)| B.I, Skinne¥
(C) E.L. Thorndike (D) Harry Harlow

QewgnsE whulL Hleoeouwled ig@ueal durmlseia gm L6y SIDDE S
Grésewen sidwz @6 Cpr&sd LLEGL GehmswuTd agara Gursdamer
2 (PG LD Glseman P

(A)  yeaerie) Gsdlel (B) Barmg semanio

(C) umgasmiy GrFgeer .. .1 (D) seTEpmaniy curgid

At the pre-operational stage children have the strong tendency to focus attention
on only one characteristics of an object or aspect of a problem or event at a time
known as SRR R Wl e

(A) Perceptual centration - (B).i Irreversibility

(C) Conservation problem = ' (D)::Ego centrism

[ Turn Over
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22.

23.

24.

endu sre Hoaeid Cebll serey :

(A) 62 gampseT | (B) 4+2 gi@mpser
(C) 5=2 gamHser (D) 7=2 giaw(hser
The storage capacity of short-term memory is :

(A) 6=2 chunks (B) 4=2 chunks

(C) 5=2 chunks (D) 7+2 chunks

P& U@L Wraeua)sE SGHS Hlamadley Cergameraw Ggfey Cawis.
(A) Qummbsresms Csfley Qs

(B) @ndwrencu andljerer prhiseaflen Quwim sapeid

21 M TR T Qg,rrpwr,r PPPLLTESS

(D) Qrey e QpHLLITS 2 6Teng)

Choose the appropriate intelligence test for a class I student.

(A) Choose the odd man out
(B) Name the countries around India

(C) Complete the series 1, 4, 7, &
(D) Why are nights darker ?

GATB -6 2 eTemensy :

(A) 4 arélgd - Quendle) Cgitey & 8 erefllu o LisFanTiiseT
(B) 4 srélgid - Quenéled Csirey & 6 eraflu 2 _LIGTGRTIRISET
(C) 6 &mélgibd - Luendld Csitey & 8 ereflu o LisTaniiser

(D) 8 &rdlsbd - Queéle Gsitey & 4 eraflu 2 LIGTERTIRISET
GATB consist of :

(A) 4 paper-pencil test and 8 simple equipments

(B) 4 paper-pencil test and 6 simple equipments

(C) 6 paper-pencil test and 8 simple equipments

(D) 8 paper-pencil test and 4 simple equipments
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25.

26.

27.

GYH@EHHT LHYL QuAGurfar warQasfsmer @UEAGL AuTys,
QuUAGWITTEET GLobamssmeTs S i @Iib LaCleu(&FsléE oL uBeugl #DN Sy eLome

QWL 2 e, G)semen GTETGVITLD.
(A)  eusleno (B) o &85 L 2 auTiFSlSSEnenLo
(C) &leuss erafleno (D) Qeuefluurl(HEsemento

When ComPaI‘ing children’s and adult’s emotions, it is much harder for an adult
to become emotional than it is for children. This maybe referred to

(A)  Strength (B) Heightened emotionality

(C) Ease of onset (D) Expressiveness

B&EFSSe euaTihgd 10 eUWF DHET (PSET (PSOTE (T T L LTl mmen.
elevarendler ampmILiLiy. 4 SMmSS oL e flavwseld erbs Hlenauid o erermi ?

(A)  Hlevelisgemento (B) <3169 LWITETLD

(C) pe»mulmest (D) _alensulhiggrL L

10 year city bred Arun sees a cowsfor a firstatimess According to Wisconsin in
which level is he in the 4 levels of concept attainment ?

(A) Concrete (B) Identity

(C) Formal (D) Classifactory

GodHwu ST fleneray sraug g QsTLIuDD SETH SscuDS@eT
Qenmiq &6T cuay EUGS([HES (PiHHLD.

(A) 10 (B) 20 .. (C) 30 (D) 40

Short-term memory can hold about seven unrelated bits of information for about
seconds.

(A) 10 (B) 20 ~(C) 30 (D) 40

[ Turn Over
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28.

29.

30.

= A G

Qomfls sHne <pangl epeneTullen e jenreul L u@fé,lu%b Bla o
@M GHUEL L Qeweur e @HUsLUGSSID searamwulamer &HsSHns.

(A)  usseeTlyamLaw (B) QR(HRISMLESE
(©C) srldluu@sse (D) Gurgewliu®ése

In language learning

refers to the concentration of a particular brain
function in one hemisphere.

(A) Lateralization (B) Organization

(C) Visualization (D) Generalization

WwrGgelflar spped QsrL G ‘Fufloaurssnd’ @m @uss Qewd Bleveowirs
W (FHDDES (PLLEDS).

(A)  Qurmpsgise (Bj 2 Wiggemeno Limedlsse
(C)  Qummer Hlanewsgeenio (D) esdlanguwinenio

In Piaget’s learning interaction ‘equilibration’ is a dynamic process that attempts
to reduce . |

(A) Accommodation TB] ﬁ .
(&) Cbiect prrmanence (D) Dissonance

58 Hmewaw fliemrud ée £ &Csrganan
2 ga|dlng) ?
(A)  uUTgETES B)  wrhmb Hmenwo
(C)  seuand Leausgise (D) &rs oiGE@s6
In an experiment, equal amount of clay

is added to e ;
rolled to a stick. What ability of 4 S v ed to equal balls of clay, one ball is

ar old does this €xperiment determine ?
(A) To conserve

(B) To transform
(C) To focus (D) To arrange
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6068650

@GS 30 elanréser 2 GTemeT. Slvensg| aflanmésEns@h ellaweflss Couaim(bib.

31.

32.

33.

34,

‘U@GU_IIT@ uLgmd U(@hFau @JIT@’
T @-@W%@® @mréJGa;rra_nq_a;mrreb L&SWOULHILD LOGTETE.

() Garer, QemiEL Heuen (B) Gempar ‘r_rr;suréjﬁdmvﬂ'

(C)  umesorig wie ApOEQs et (D) somaméste @mwelumenm

2blG GG GTETLSH(ES STyanr efenar wrg) ?
(A) =L 1qeormen (B) <L (pellgzmen

(C) =L’ L menr (D) =iamsailsmes

Lpms UDpDDTET UbBlaner il isbenpLs
L‘IDQJGS LJ'[DQ] @S]Lﬂ)@

- @&@mLumedler s uild @b Quhp ergims.
4) pHOpgms - (B &meny ergiems

(C) Epssgieunis Tgms (D) Cupsgieuris ergiens

“QpsT wenilwimi @mbs 2-aE
8bg) eremm GQFmeadlw prEdHEIGw”
- @uurLelé ‘Apgl TS TMSE GBlEELD ?
(A) srfas , (B)- @@ euens @evsriLim_d

(C) &pa eAmssid (D) gradlens eueimanTLd

[ Turn Over
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35. THOSHS LW mEE ereucueTay QenL_Cleuafl Coeneu

(A)  GCme - gGrm_
&OBLY - parGLrL
umeny - euergGuim
Ogemenar -  CsGrmL

(B) Qe - euamg Guire
SOLY - GsGrmL
mrenl - parGLTL
Gsemenen -  gGrm

(€C) Qpe - . perGLrL
EGLY - gCrrL
urey - euarg Guim
Qseener - CeGrmL

(D) @me - penGLmrL
SGLY - ey GurL
auren - g GrmL

QgGMGE}GBT - Gg,@g'm_

36. umLe aflaGamm® mrovsamen Qumbhég)s.
(1) eudlgl Hlave Gu, &TWPLD :
(2) @m0 uGHWer o airen (| Ynéain, (=) uﬁiﬁ}@mug@
(3)  <=ibss Caaflyn erpslys Slemmin (@) LD Tenm)
(4) SOAN apSmd UpsD s (%) Hmeurssin

(1) (2) (3) (4)

(A) (@) (=) (<) ()
B) (&) (&) (m) (=)
© (%) (@) (=) (<)
D) (&) (7) (=) (=)

| (=) L@ s ans;

37. Gsrlsm eupgmer B&QsTLir eryy

Werflengy :
(A) eever) Lwefeney

(B)  Quufyy Uwefleney
(C) eenarLi QuurdLweiana (D) ey, Uweflengy
38. Gsmemom er(weumiy TETUISH 5 FTEIN) (15,
(A) UgsHT (B)  mmrey UBGger *
(C) eTLaui® eumbgmer (D)

Qerenemeug Seorr
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39.

40.

41.

42.

43.

44.

45.

46.

47,

1't iz O o

QuTmBBSTS ClEmanas Cairs.
(A) Qe (B) senp (C) LOFD (D) &6uLD

2 LB @IS Lamihe Qunmsswras Qerpsmard Cois :
(A) Camule, Caraile (B) Gswig., Geaulg.
(C) uemenGuree, LamaGeurae (D) UTUIME, Leradlene

wpemlen Gambg eumd Gamaedler @mliLmed <, UreaCur Qua ureeGuir
> auTiTdd eU(Heug) :

(8) Gam@hlsse (B) qea@pmy Qurg&tleme

(C) AD&GSsTLIT (D) @rlenL &dlarel

Qeereny eTeeMBLD eTem@heum Claaeueny
eréveum(mieh Gawieur fmiiy

- @&EpLureile ‘AplLy erem Gemeedler QUensssT 2 GLD.
&) Gt (B) Henry (C) Blanyy (D) Gy

@m Qerdaer eripsg Coumu L @b GUTEHETOTDILILIS) @\ LIS EET
GTGOTLIIT.
(A) CGeupmiento (B) =ienL QBT (C) FGurel (D) " LusTLUUSLD

“LrGpTEl GUITLDGU 0T Lifludlebeor LoGoTGITEHTTIL
H1eCHTES eumpame palsg" - erand Famib e 675 ?
(A) Hmé@per  (B) prevgum (C) gard (D)  mblen et

sTCar gaflell_ddalq U] “gsmuipenp” EGL saTLeUTH GuipEIGeUIT :
(A)  mrar Sen (B) Gamer e (C) Q&cueumi (D) Qeusref

“Sred eummISlL& G &) (HEuTE . | .
5meus) Goderars GuEGaTET” - eTEmD & DanDs gl :
(B) dleSyrmn Limeiriq wieh

(A)  eeTeneUWITIT :
(D) prw&sed sallehr @rmoedirisLd

(C) umydgrser

(A) 2 (B) 23 (C) 3 (D) 33



: L

48.

49,

S0.

S1.

S52.

53.

54.

ﬂshm@memm@@m eTeneu FMlwreneney ?

(1) pL - seneilener
(2) BLSg - meilenen
(3) bBLEsE Cewgmr -  srrewrefenar

(4)  wrl® ur@épmen Qewliur._® efener . o
(A) (1), (2), (4) &Ml (B) (1), @), (3) &l (C) (1), (3), (4) &M (D) (2), 3)

|

2 @& QurflsEséeE oo smuQry) sllpregssrer QMmss Geuar (D eTenm)
g QwMés Qmw@]uﬁ]ueﬁ 9ID@H T

(A)  Slev (B) gmeivé (C) &M (D) Corib &mibed)
‘ngieny’ eremend erflem QLW s6leul_(Hsafle erall LuSleurdl 2 6remg.
(A)  wéleny (B) w@eswd  (C) gy (D) @i

aumiuy s aupCsen - Qg ereiaiens 5@ QULDE (S :
(A) RIS (B) _ G5

(C) QLéar_ss6 (D) @evésamriGLiras

‘Clam SIHCgmer eremmy umrggme GO CIL@ueui -
(A)  BeebBgeuaTTT (B) poGeulLami
(C) meergermi (D) puusFmewTT

“Qeweurwmr?’” 6T 6TEy)| LD aflerreln s

®& &G T FMICUF]| 6TEUCUMS
ellepLwir@p ?

(A)  2meug samed eflepL (B) 2pnsg 2 eorsser efian,
(C) @eued aflenr_ (D) Qen Qo eSlen_
&5 @QesHwib :

(A)  selluureurd UmLLQumieug)
(B) eu@rdliumeumed urLGumieug
(C) Qeuarruimeurre urLiGlLm eug;

(D) sellQeuamureurd U LGumieug
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56.

57. °

58.

59,

60,

“orGuimesr Qasrrulékp LOHE SroeniL]
UGaur® Lerrues Eomir Lefey
- @hs0 UTLd aifl @Lib Quipp ere PSABTDS BIS TTEI ?

ik el (B) ufur_d

€ LgbpLsg (D) UPBTED

e Dot @G‘ﬂsﬁb‘rmmg Csirs.
(A) syemd -

LOGIT
(B) uwemwileod . SR,
(C) Cuwd . ~ g,
(D) mBrefCsyb - Qsérean

‘e Slenss @M g auL HenssE el < ulen”

- ereoim Qaliwemiquiles eped Plwen@nd Caugl.
(A) @wifl wreu’ L sléd I luss50s CeramLrid Wen
(B) UMEGUEET eUEE cuphs ClFiis)
(C) eau_dHersudled HUBD LB LMD nialSHeT
(D) @wissLdle @l 2 Hsgb Cels

> GG Wsapsons soidl AGCHILT R @unﬁurrmas@es Gl auiprid
o _GTengl; 2ihS CrrGumreSien GlLwi™ ereman ?

(A) Gemwmr (B) GrrGur o Gsewr
(C) CrrGumr Cymé (D) &Gy eoLmi

Spsmam_eupmier eTg SIS QurGHLeTaTs) :

(A) OsTenepsH QuBSTD - gQGureurenafl srfleval
(B] @gﬂuum_ ‘@u_]‘r_r)é]lj'm = élGGDSSGTDﬂ'GﬁﬁTI_[T Quullerr
() sraflusst LT @uipslrd ; %G‘:ﬂ"*o"“ﬁ@@

(D) olenL uumu@;&&@lw @“@5‘””’ - somen Gaglium® Liryes

(PSS 2 F&MEs T(H5EE QameTEnd &re SleTeneud QarammCL @ euamslILBSSLI-
LESDE e pePGL : . - .

(A) 2.0 Qi er(HsS! (B) @, Gpied erpss)

©) ol Quis gid oy (D) 2l dod Gpge, erise

[ Turn Over
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62.

63.

64,

65,

66,

. Choose the best option tq

(a) Caterpillars (i) glide
(l?) Mice (ii) wriggle
(c) Worms (iii) hump
(d) Seagulls (iv) creep

(@) (b) (c) (q)
(A) () (i) (1) (i)
(B) (i) (i) (iii) (iv)
(C) (i) (iv) (i) (i)
(D) (iv) (1) (iii) (i)

The alliterated words in the line ‘The barren boughs without the leaves’ are

(A) barren - boughs (B) boughs - without
(C) without - leaves (D) barren - leaves

Replace the underlined words from the following.

“l had a frightening dream which still vibrates in me.”

(4) Nightofflly GATRE]
(C) Day nightmare (D) Delight dream

Spot the Error.

Suren is most / capable than / most other students / in the class.

(a) (b) () (d)
A) (o) B) () © @ (D) (a)
: ot the nasel consonant sound.
W g ® el e D) /1

ct claus€ for the given sentence.

u did not pass.
well, you won'’t pass.
you would have passed.

Choose the corre
You did not study. Yo
(A) Unless you study :
(B) If you had studied “.’el O .
(C) Study well or you Wil noofld —
(D) If you studied well YoU w

[ Turn Over
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67.

68.

69.

70.

71.

72.

73.

They don’t have sufficient food.

Which sentence conveys the same meaning ?
(A) They have barely enough food

(B) They have often enough food

(C) They have ever enough food

(D) They have sufficient food

Find the odd one phonetically.
(A) Food (B) Wood (C) - Rude (D) Nude

Which of the following sentences given below conveys the correct meaning ?
(A) The baby is crying because somebody has broken its doll.

(B) The baby is crying because somebody has banished its doll.

(C) The baby is crying and somebody has broken its doll.

" (D) The baby is crying and so somebody has broken its doll.

The line

“The reddest flower would look as pale as snow’

- is taken from the poem :

(A) The Cry Of The Children (B) Migrant Bird

(C) Manliness (D) Going For Water

Who wrote the following lines ?
“Where mercy, love and pity dwell
There God is dwelling too”

(A) Thomas Gray (B) Churchill (C) William Blake (D) Emerson

‘Feather in one’s cap’ idiomatically expressed as :
(A) Something one may feel proud of

(B) Something like a feather on the cap

(C) Someone’s simplicity

(D) Cap is made of feathers

Which one of the following sentences is correct to combine the two sentences
given below ?

Kiran is very ill.

She cannot go to school today.

(A) Kiran is much ill to go to school today.
(B) Kiran is very ill to go to school today.
(C) Kiran is too ill to go to school today.
(D) Kiran is so ill to go to school today.
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|
L4. An autopsy is

75.

76.

77.

78.

79,

80,

81,

(A) Medical €Xamination of g tissue

(B) Policfe investigation of a murder
((](:3): Medical €Xamination of a deaq body

Department €Nquiry on a blunder

I had given €nough money,

In this sentence the word enough is used to refer the

(A) Adverb of degree or quantity (B) Adverb of quality
(C) Adverb of Frequency (D) Adverb of manner

Which of the following sentences gi{}en below is wrong ?

(A) A declarative sentence always ends with a full stop.

(B) An interrogative sentence always ends with a conjunction.
(C) A declarative sentence makes a statement.

(D) A statement can be affirmative or negative.

“My best and trustworthy friends are six in number. They are why, how, when,
what, where and who.”

said these lines. :
(A) Socrates (B) Francis Bacon (C) Rousseau (D) Voltair

Facts that are difficult to understand is called _ )
(A) Secret (B) Rumour (C) Hearsay (D)~ Mysteries

You will know exactly how to get on w1th them by sometimes giving in to them and
sometimes standing out for your own view.

The phrasal verb get on means.

(A) continue to resist others.

(B) keep for future use. |
(C) abandon an attempt to do something.

(D) have a friendly relationship with.

0 f the parts of speech is wrong in the following sentence. Identify it.
ne o

One of the boy looks happy:

(A) Verb (B) Adjective (C) Noun (D) Adverb
:< the correct phonetic transcription for “Pocket”.
is
@) /poukit/  (B) [PPket/ () /Pakit / (D) /PDkit/
uki
[ Turn Over
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rds that forms a meaningful unit, but it is not a complete senten
(B) Phrase

(D) Dependent clause

82. A group of wo
(A) Clause
(C) Independent clause

83. Choose the correct usage of the modal verb.

You ought to respect elders.
(A) strong obligation
(C) compulsion

(B) possibility
(D) moral obligation

the past participle of “Read”.

84. Choose the apt phonetic transcription for
/ried/

(A) /rixd/ (B) /red/ (C) /reod/ (D)

85. Rearrange the jumbled sentences into meaningful cogent order.

You can see a link for the software/application
Open the resource and move by using the pointers
Scan the QR code, it will go to a website.

Click the link to download the softwa:e-fapplication

Like this you can find more resource
A) T,S,RRP,Q (B) S,RP,QT (€] R ByS, QT D) T,R,P,S,Q

Hw oo o

86. Choose the correct sentence pattern.
The chill weather made them shiver.
(A) SVIODO (B) SvOC (C)""SVOA (D) SVCA

87. Search for food in a wide area is ’
(A) cultivate (B) forage (C) storage (D) footage

88. Replace the masculine singular word for ‘alumna’
(A) alumnae (B) alumnus (C) alumni (D) alumini

89. “We ran as if to meet the moon.”
Choose the exact figure of speech of this line.
(A) Simile (B) Personification

(C) Hyperbole ' (D) Oxymoron

00. Find out the transitive verb given below.
(A) shines (B) reads (C) sleeps (D) walks
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@uuEdude 30 eSleorras g gy 2 _GiTermey,
There are 30 questions in this

91.

92.

93.

9,

USS-IV / PART.IV
Senflgb ; MATHEMATICS

SNWeSg) eflanrésEnéEh el weflss Cougm@ib,
Part. All questions are compulsory.

&eng e 2 L mwors Gowyin UpliLeray -
(A) 616 152 B) 661152 - (¢ o882 (D) 3024 152

A horse is tethered to one corner of a rectangular field of dimensions 70 m by

52 gl '?Dy a rope 28 m long for grazing. How much area can the horse graze
inside :

(A) 616 m? (B) 661 m? (C) 28 m2 (D) 3024 m?2

8 pursefen TS aioramsaiiar eldgn 9 : 7 Cogibd sjeuisarg wrsmbsy
Clgaayserfer alldsib 4 : 3 geublaummeusid Lrgib @am&EE T 2,000 Gellafmniser
crafled vjeuiaseng Lomg eU(miomaid wpennGu :

(A) T 14,000, T 18,000 (B) ¥ 18,000, ¥ 14,000

(C) ¥ 10,000, T12,000 (D) %12,000,%.10.600

The ratio of monthly incomes of two persons is 9 : 7 and the ratio of theijr monthly
expenditures is 4 : 3. If each of them manages to save ¥ 2,000 per month then
their monthly incomes are respectively :

(A) ¥ 14,000, ¥ 18,000 (B)! R 18,000,%.14,000
(C) ¥ 10,000, ¥ 12,000 (D) 12,000, ¥ 10,000

26 BEISHD @@ amrsfd Lfwrar vayw earasdiar ofar (19.18)
0, 12.2, 2.1, 0, 20.5, 5.5, 1 erafled ayriaf]l ey siereliheEn GEOPeUTET BT safler
aTaTenfGeamns

a) 3 B 4 € 5 - Do

If the rainfall (in mm) in a city on 7 days of a certain week was recorded as
0, 12.2, 2.1, 0, 20.5, 5.5, 1 then the number of days less than the mean rainfal] -

A) 3 (B) 4 (€) S (D) 0

e rilawés eranaflan AL SAger Qosstisaller smb s Gurg, 7 L1 2 eiremg.
Qossismer GLwrYsed Gl daL b e Q&r®éaL eTETEnERTE
18 @anmay erarfled, seullouen :
(4) @52236’4 (B) 64 & () ﬁ i (D) 73

it is seven times the sum of its digits. ' The number formed by
fc\f“;cs)iglgltil:z?lg?tir is 18 less than the given number. Fing the given number,
& 52 (B) 64 e (D) 73

[ Turn Over
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95.

96.

97.

98.

X3 —5x2+7x—4 erémueng x— 1 d IGEGD CUTS HL&@D FFey

(A) x2-4x+3 (B) x%2—4x—3 (C) x2+4x-3 (D) .- x> +4x+3
The quotient when x3—5x?+7x—4 is divided by x—1is: -
(A) 2-4x+3  (B) 2-4x-3 (O P+4x-3 (D) X2 +4x+3

@M Samn AmrsGarargdlen @Qurss ypliuguy 675w 7.Qg.18 erafled g e
eUENETLIFLILY :

(A) 450 £Qs.8 (B) 450m #0Qs8 (C) 225w 5Qs.8 (D) 225&0Qs5.8

If total surface area of a solid hemisphere is 675w sq. cm then the curved surface

area of the solid hemisphere :
(A) 450 sq. cm (B) 450w sq.cm (C) 2257 sq. cm (D) 225 sq.cm

A= [: B J hmitb A2=1, crafle,

i ;
(A) 1+02+By=0 (B) 1-a2+py=0 (C) 1-o?-By=0 (D) 1+a?2—By=0
If A= [“ P ] is such that A2=1, then :

y —a -
(A) 1+02+py=0 (B) 1-a?+py=0 (C) 1-a2—By=0 /(D) 1+a?-py=0

LS PA, PB arenuian O -nau @LWLOTES Qareii ait LEHnE Geuelil yerafl.
P -uQef (bl euenywiiliL Qgr@CarhserT@b. CD erang) L $8DG E erangnld
Lerefuder euenrwiiul L QerThCsr®, AP=15
sawTHLlg-. d = ¥ o §

Q&S erafley APCD -6t &HpETENES

(A) 10 Q&8 (B) 20 Q&.8 (C) 40 Qg.5 (D) 30 Q&.8

In the figure, tangents PA and PB are drawn to a circle with centre O from an
external point P. If CD is a tangent to the circle at E and AP=15 cm, find the
perimeter of APCD." ' i

(C) 40 cm (D) 30 cm
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99. ABCD, 14 Q&.18 ugs Slerajarar sgir, Blpal L uEHuder LFliueTe sraTs.

H B

D c

(A) 42 G&.5? (B) 49 Qs.52 (C) 61 Q&.82 (D) 54 Q.52
Find the area of the shaded region where ABCD is a square of side 14 cm.
A B

D c

(A) 42 cm? (B) 49 cm? (C) 61 cm? (D) 54 cm?

100. e ermioL sang) 2 ameneus Csiq 96moupid ux_r;aﬁg,&srﬂ@ BEHEDG). i85 QFogid
0a& Beromer UTms 6rg) ?

2.8 Q#..56—

2.8 Q&8

(A) (B) | (C)
f— 2.8 Q&..8 — — 2.8 Q&..8 —

An ant moves in the following different paths to get its food. Which would be its

longest path ?
F—2.8 cm—

[ Turn Over
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. ! . a—b ;
101.a, b, ¢ erenuer @M QUBHEE Cgmi aflenaufed o emeren erafle, Yo erauLg,) :

a C
(A) (B) © 3 O 3

b 3
a c

If a, b, ¢ are in Geometric Progression then b o is equal to :

lonll Kol

(A) (C) (D)

= B
z (B)

a a
c b
102.12+22+32+ ... +102=385 erafled 22+42+62+....... +202 -ar wFlLL

(A) 385 (B) 770 (C) 1540 (D) 2385

If 12422+32+........+102=385 then the value of 22+42+62+.......+202 is :

(A) 385 (B) 770 (C) 1540 (D) 2385

103.AD eranuigl AABC -& ZA -em 2 L Up Garenr @mawbeul g <ig BC -, D -&
snpd&8ngl. AB=x, AC=x—2, BD=x+2,.DC =x~— 1 araflév, x -ar IO Srens.

(A) 4 | (B) 5 (C) o (D) 7

In a AABC, AD is thé internal bisector of ZA, meeting BC at D. If AB =x, AC=x—-2,
BD=x+2 and DC=x-1, find the value of x.

A4 (B) 5 (C) 6 (D) 7

104.(m Gouemaerwé QFw A -&@ B -enw 69l 6 B ser G@Deurss CaameuiLBHng.
Qo Gaibg caCaumamus QFlsmd ms 4 Briseld WPi4&5E QuaILd
.ereled, B safllCw oicuCaumaemw argsmean prisalled wpigés Quaid ?
(A) 12 (B) 10 (C) 14 (D) 6

A takes 6 days less than the tirhe taken by B to finish a piece of work. If both
A and B together can finish it in 4 days, find the time that B would take to finish
this work by himself,

A) 12 (B) 10 (C) 14 (D) 6
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108. U580 praimser Ap OB CD erenuan P -é @eul (Héempar; AB=16 @s.15,

106.

107.

108.

PD=8 G&..5, PC = v
A ' D ® Q.8 DML AP > PB erafleo AP=
Y

(A) 12 Qs.i8 (B) 6 @s.8 (©) 4 Qs.i8 (D) 8Qs.5

In the adjoining figure, chords AB and CD intersect at P. If AB=16 cm, PD=8 cm,
PC=6 cm and AP > PB, then AP=

A
"

C

(A) 12 cm (B) 6 cm (C) 4 cm (D) 8cm
3+94+27+...... eramm Gsm_fle erggemen 2 mliL|Eamers &qu.eurrreb-ah(gg,d) 1092
enL_&@b ?

(A) 8 (B) 10 (C) 6 (D)9

How many consecutive terms starting from the first term of the series

3+94+27+...... would sum to 1092 ? '
() 8 (B) 10 Gt gl mmy =Dy 9

o sl BEAsTLIT afl@sdd SGs8055 el e nliser k+2, 4k—6, 3k—2
erafled, k -er Sl : -

(A) 2 (B) 3 (C) 4 (D) 5
If k+2, 4k—6, 3k—2 are the three consecutive terms of an Arithmetic Progression,
then the value of k is :

A) 2 B) 3 (< 4 (D) 5

r&GETeTD LHMID ¢R(H e e dlwar s SigtLriGmens
Qe 2wy, e@marude e wrsHbe swwrsay, Cog)tb
@ eiayurd <) eupdler &!’Ug"@"?@ fFLDLDr.T&'.GqLD Qobsred Queperder sean
SjereysEHédlaL G o eem NlEIFSMSE SIS : _

(A) 1:2:3 (B) 1:3.:2 (€) 1:2:1 (D) 2:3:2

A cone, a hemisphere and cylinder have e&ual bases. If t}'ze heights of the cone
and a cylinder are equal and are same as the common radius, then find the ratio
of their respective volumes. ' :

(A) 1:2:3 B) 1:3:2 (C) 1:2:1 (D) 2:3:2

@B FaldY, RH AP
Q& rewT(heTere. Fald

[ Turn Over
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. . . L (;] L
109. 14 Q.18 sisaepeoLl @ (Fcias ailgal STamer SIS @mwu-ueﬁaazﬁzﬁ ;;:g@
> HLL 20 Q&8 repeLw @ - (hear HoLsdng eraile A2 &
Sl eTa : .
(A) 176 Q&.15° (B) 17600 53 (C) 17600 Q.&.LB:;' (D) ;720(:@1?3& f
A rectangular paper of width 14 cm is rolled along its width an vy 0

. . inder 1s :
radius 20 cm is formed, then the volume of the cylin 3
(A) 176 cm3 (B) 17600 m3 (C) 17600 cm® (D) 1760 cm

110.AB wopmib CD erenm @) pranser eul LsHH@ QeuaflGu P GTEILD LJGITGTﬂlL(ﬂGD .QGLII'_‘Lc}és
Qarerdlemmen. BP=3 Q&.18, CP=6 Q&5 wpmo CD=2 Q&.8 erafled, AB -6 &mains,.
(A) 7 Q&5 (B) 6 Q&8 (C) 8 Q&g.5 (D) 5 Q&.15

AB and CD are two chords of a circle which intersect each other externally at P.
If BP=3 cm, CP=6 cm and CD=2 cm, then find AB.
(A) 7 cm (B) 6cm (C) 8cm (D) 5cm

111. g w&Careameig o Hasder ussisaiar elsn 3 : 5 : 7. Sigern abpera| 300
erafled LIFlILIeTEy STENs.
(A) 15/3 152 (B) 150v3 52  (C) 103 157 (D) 1500y3 152

The sides of a triangular plot are in the ratio 3 : § : 7 and its perimeter is 300 m.
Find its area.

(A) 153 m? (B) 15043 m? (C) 1043 m? (D) 150043 m?

112. pig Span@sErsE wer mrillflar aws Carayeden auwams Gured 3 LGS,
uggream(HaEnsEL Wer prfluller euwg Carayefan cuwiengls Gured 2 WL kG erafled
aifl whmib Cergy @eufseflar sHCLrasSL auwig weanGu

(A) 15,45 (B) 20, 50 " (C) 50, 20 (D) 20, 60

Five years ago, Nuri was thrice as old as Sonu. Ten years later, Nuri will be twice
as old as Sonu. The present ages of Nuri and Sonu are respectively :

(A) 15,45 (B) 20, 50 (C) &0, 20 (D) 20, 60

113. (x+a)(x+b)(x+c) = x>~ 10x? +45x ~ 15 erafléd a+b+c, ab+bc +ca, abe <y AwiaupBlen
wluyser weapGuw
(A)  —15, ~10, 45 (B) -10, —45, 15
(C) —45, = 10, 15 (D) = 10’ 45' —-15

If (x+a)(x+b)(x+c) = 33~ 10x2+45x — 15 then the values of a+b+c, ab+bc+ca,
abc are respectively :

(A) —15, —10, 45 (B)

—-10, —45, 15
(C) -—45, —10, 15

(D) -10, 45, —15



ML e 43 BRT - 1

J2116 = 46 erafig
114,21 & BTTe o
(A) 5.216 B) o YO2TIE + J5:003116 = eremusen AL -

6
(C) 5.106 (D) 5.116
£ J2116 = 46
;A) s216 AR WS OF. JINYE 4. JBBTTE s 4600BTIE =
(B) 5.306 (C) 5.106 (D) 5.116

115. @0 2TED RO Curg 300 @p . _ o :
2NEADE eraflcy ST rlsF;Gmbé!:‘:rrenmrﬁetngz,u_|u:. 11 Q&5 eflvellan Hergenguybd

al L Qs - (B) 31Qs.8 (C) 41 Qs.8 (D) 21 Q&.18
hrough an angle of 30° and describes an arc length of

(A) 1l cm (B) 31 cm (C) 41 cm (D) 21 cm
116. s1n 3A=°C°S(A—26) ODDID 3A eTeitLg Gk Catad arafld, A -er Lol

(A) 62 ~ (B) 26° (C) 92° (D) 29°

If sin 31:\—008[1\-26 ), Where 3A is an acute angle, then the value of A is :

(A) 62 (B) 26° (C) 92° (D) 29°

117.200 1§ Bereperer mredlamme BO SMODMY. SLLULLE UPHEIS OsTaT HESns.
3bS HIT6D SOTLLLGFIL eér 30° Caramgms THuBsHearred, srHOIG Fenry
UL SEeSI(Bhbg LDEEGL o wWrssen 26Ta :

(A) 100 8 (B) 10043 18 (C) ..200 18 (D) 20042 8

A kite is flying with a string of length 200 m. -If the thread makes an angle 30°
with the ground, then the distance of the kite from the ground level is :

(A) 100m (B) 10043 m _(C) 200 m (D). 20042 m

18.X = {x: x = 4(n=1), neN} wpoid Y [y §yi=137-2n 5 1, neN} erafler X U Y

GTemLg)

A) w (B) X € X (D) N

X = fc:x = 4(n—1), neNpand ¥ ={y: y = 37=2n-1, neN), then X UY is ;
a) w - (B) X € Y (D) N

119.@@ CaramgdlepenLw HyiLs G&W@MQ@W 2O DLRGTES g6 s Blriigys
Coransfan @ w-mes o 12° 6PDa aald, wi5Csmanssdn

n 4 @) o NGk S (D) sg°
; .] . ?}? 5 e ghple; if six times of its complement ig 12° less than twice
in e measu

FAf)its4§1:pplemcnt- ® ‘96" (C) 24° (D) 58°
Hml B)=410 eraflq 'UB') =
1 U) =500 wppid n(AY ® n(A'UB)=
0.n(a)= 285, n(B)=195, 0 L (C) 530 (D) 350
A) 430 ®) (U)=500 and n(AUB) =410, then nA'UB) =
ﬁ\ ]n(A)=285, n(B)= 1(955)’ 7340 (C) 530 (D) 350
430 ’
) [ Turn Over
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ues-v / PART-V

@pFleneo SiHleie)
e oieenEEl CAGTSEEEED e
All questions are compulsory.
121.0.75 A BérGarm.Lwrangy @@ Weasty LA Gop aflGu S BBl uze
UMy bEAUTLYS AHS Benspien auflGw LTLD lergrl LEenss SHem_Bluieyin,
(A) s00C (B) 250C (C) 2215_’ c -~ (]iilef:g _
i by the filament ol an €lectric ' minutes,
A current of 0.75 A is drawn by oty hrough s R,

Find the amount of electric charge t
(A) s00C (B) 250C (C) 225C (D) 215C

BRT - 1
| EVS

; ks of enLwafl&s Gouatm(p
QuiLEHuGe 30 edlearmsser e-er :
There are 30 questions in this Part.

psafle sramiiubeis Qurgleumd ST WwHmd

122.2 (hE @e@pwrs Wer &
(ererg. oaraie :

Qeudrefiis SaenelTed 2 (HauTsLILIL
A) swips HaseL LHHD> EGODHS e-GSH®D

(B) 2wibs WengeL wHmId 2 WTHS 2 (HGHleame

(C) @Geopbs Wagm YD GMDHS 2 (HE&Hlame

(D) Gonhs WaseL LHnb BWiks emHEhlama

The fuse wire found in electric circuits is an alloy-of lead and tin is common,
because of :

(A) High resistance and low melting peint

(B) High resistance and high meélting"point

(C) Low resistance and low melting point

(D) Low resistance and high melting point

123..1m® ugper Qsrar. Azmiyuld o erer Bfer Hleom 1000 kg. LTGTsDd Semaniien
SILgSlenwis GLimed 13.6 wLkE sid erafd, <iCs QaTiguiled Bl Geuairigw!
urgresden Hleom :
(A) 13.6 kg (B) 13,600 kg (C) 1,000 kg (D) 10 kg
The mass of water in a tank of volume 1m3 is 1000 kg. What is the mass 0

mercury to be filled i . . .
w:::r I;Y llled in the same tank if the mercury is 13.6 times denser than

(AJ' 13.6 kg (B) 13,600 kg (C) 1,000 kg (D) 10kg

124.81 g SQOAUEAHD o 6rar Cuorggafien eraraniloamaseaniL seméd (HS.

LB &G (OTE
Calculate the number of mge @wseT  (C) 4 Guraser (D) 16

(A) 3 moles (B) S in 81 g of Aluminium.

2 moles (C) 4 moles (D) 1 mole
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125. &S eh6usgT &fliimey

126.

127.

aneuCy (gg,frlr_;,@g)@_

A Separ .,
&

(B) &&feur Hlé) iesmi?m&w
€ Ssfur-\qpg, SDésT
(D) opil &

a5 s
Find out the Correct paisp 0 SISO
(g) g eslﬁ?va ~  Home secretary
(C) AaC v - Finance Minister
(C) matya - Prime Minister
(D) Mantri -

Chronicler

N (A) - 20 .6]95.‘@“’50 grauy @emauled uralGav® Bjeg 6vLUTEHE
; urrol;rsmm;mw Bauphler gCaad gam wr Gib SramiLELD.

smewie (R) : Qb5 cuansss Lnid) Qeuar e eremy QUL

(A) Fapm &fl, sryewmn s

(B) &Dmi seum, snrewmbd s

(C) &mmm) &f, srrewib S6um)

(D)  &mpDmI seum, SrremTid SeU)

Assertion (A) : Either Spongy or Palisade Parenchyma are-present in Monocot

leaf.

Reason (R) : These types are Dorsiventral.

(A) Assertion correct, Reason correct

(B) Assertion wrong, Reason corféet

(C) Assertion correct, Reason wrofig

(D) Assertion wrong, Reason wrong

2 MIFLILBSSISEO (A) : Bran @@ GFbuwly By o Carsb, BITE &M m L e
aflemerul(® smerw By @Lifs 2GMmavLa TS GCner.

snyewtd (R) @ prer @@e}za;mfsm_é](ﬁg)@. o
(A) (A) - ereTLG) s (R) eremnug gRlwren eNerdah

(B) (A) - ereuigy &l (R) erang) sflwrer edenés e

(©) (a) - eréng &l (R) eramLgl SALDS
L gflwevev
(D) (A) LD@Q'“:’I (R) a Reddish brown metal, I react with air, my colour is changed
Assertion (A) : aﬂi ck formation of cupric oxide.
: to bla oes Reduction Reaction.
& rrect reasorl.
t a relevant answer,

Reason (R) : I underg s
(A) (A) is correct, (R) 18 i
(B) (A) is correct, (R)_lswmn 5
(C) (a) is correct (R) 1S ©
(D) (A) and (R) are ¢°

[ Turn Over
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128.

129.

130.

seupnen spans CHTHESH -

A 8pg swleed wésa gurend Qi sTREICLET TaD eaggy
wenfl&sEneEamaTL LweTuH &S er.

(B) &ibg sw@aual wéser Gpblen LLmET <PpHEseildee.

(C) &psl swQauafl &6 STOHDL aueTlienL DieuT&eTg) MMM Qﬁﬂg,é]surra;
CunOlgmeTL_eT.

(D) gy swQaued &S GLaUET FH&TSSl6N LILame AP BS (HHSET.

Find out the wrong statement.

(A) Indus people used blue quartz stone called Carnelian to design jewellery.

(B) Indus people were unknown of Iron.

(C) Rearing of cattle was another occupation of Indus people.

(D) Indus people knew how to use the potter’s wheel.

epgemd uillw Gurflér Qurwg @BSlureilar smaemio < EEHITS @ HHST

Wi ?
A eflddiu Quanih Gry Bl 8 fioanend Gy
(C) Leblapardl Gy (D) srafli 9y

Who was the Governor General of India during the First Burmese War ?

(A) Lord William Bentinck (B) Lord Amherst

(C) Lord Dalhousie (D) Lord Canning

ol woasRIEE TObgssm g -
(A)  Slwferm NwCarGs Lirgyr
(C) Gedlur ApMerd

Give an example for photonaSty .

(B)  emorafliGu gmome

(D) eowCGurer Gy gsr

(A) Leucaena Leucocephala

(B) Sam
(€) Tulipa Sp anea Saman

(D) Mimosa Pudica
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A

131. QUS55

132.

(a) STEP

47

(c) eUISL&enewr EMLE &L b

(d) GLEMSS &mwenr

(@) (b) (c) (q)
(A) (1) (1) (i) (iv)
B) () () ({v) (i)
(C) () (i) (i) (iv)
(D) (1) (1) (v) (i)
Match :
(a) STEP

(b) Swayam Siddha

PYLY Amsss s Lid

(c) Dowry Prohibition Act

(d) Child Marriage Restraint Amendment Act

(@) (b) (c) (d)
(A) (@) () (i) (iv)
(B) (1) () (iv) (i)
(C) (i) (i) (iii) (iv)
(D) (1) (1) (iv) (i)
QUTHSSIS.
Geuling @mreustlaer
(a) enLLyerser (1)
(b) enf&Caensar (i1)
(c) Guéwev (iii)
(d) eSlebedl afevadl (iv)
(a) (b) (c) (d)
(A) (iv) (i) (i) (1)
(B) (i) (v) (i) (i)
(C) (i) (@v) @) ()
D) (i) (i) @) @)
Match the following :
Tropical Cyclones
(a) Typhoons [Q
(b)  Hurricanes (“)
(c) Baguios [%11)
(d)  willy Willy i)
(@ (b) (e) (4
(&) Gv) (@) @) 0
B) (i) @v) () @)
(€) (i) @v) @) ()
(D) () (i) () ()

CanemmILbIL_rigs.

(1)
(1i)
(iii)
(iv)

()
(11)
(iii)
(iv)

BRT -1

L nAs S
W 2569

1961

1978

Training Programme
Self Help

1961

1978

Geflienuicie SeusEhEE H(HEle

LUEN9E QUigs a6y,

24,60 G S Tey (3 | ATHE] D
Sl rargs QUHhsL

Places of origin,
Near Phillippines

Pacific Ocean
Near Australia
Atlantic Ocean

[ Turn Over
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as A R

ISS.QIJI'I‘@‘&',@&_ . _
ARV sevoewiioy LrCse HlevsGCasmmmmisse
(@) 2 gsramam (i) Cumm Gmsser
(b)  wsHw Csed (i) GHLEMT GDSEHET

134.

(c)
(d)

(A)
(B)
(C)
(D)

FESEVSIT (iii) wéwTh WS, LTETLGUT G@ESaT -
<hAre ArGssnd  (iv) gruil Gos wHmID sUCHHyeT Camulla
@) (b) (c) (q)
(iv) (i) (i) (i)
(1) (i) (iii) (iv)
(1) (i) (iv) (i)
(iii) (iv) (i) (i)

Match the following :

(a)
(b)
(c)
(d)

(A)
(B)
(C)
(D)

States Landform in Karst Topography
Uttarakhand (i) Borra Caves

Madhya Pradesh  (ii) Kudumsar Caves

Chattisgarh (iii) Pandav Caves Pachmari

Andhra Pradesh (iv) Rabert Cave and Tapkeshwar Temple
(@) (b) (e) (d)
(iv) (iid) (i) (i)
(i) (i) (i) (iv)
(i) (i) (iv) (i)
(i) @v) (i) (i)

gflwnen Qznismarg Caits -

(1)

(ii)
(iii)
(iv)

(A)
(C)

Select the correct sentences.

(1)
(i)
(iii)
(iv)
(A)
(©€)

erevaum Ggmfnarana S L RIS (ET5LDILH OBEITLD, Y GIITED 6T OO 6S L® 2 uCurss
SLLLBISEHD (POSRTOD®.

car Asmfihsree &1L L ks
PG ETLD. :
TR PSP GFdeuid: QAT GTOWT FDEUWD epBETLOD.
TN PSP QFdelindey: ETED Grevedm GlFevey
(i) LOmID (iii) & (B)
(ii) wHmID (iii) & (D)

@5, LB e uCurss &L L B&@EHD

WL EPOSEILD.
(i), (i) wHmb (iii) &
(1), (1), (iv) &M

All industrial buildings are capital; But all domestic buildings are not capital.
All industrial and domestic buildings are capital.

all cap%tal ?S wealth; But al] wealth is not capital.
All capital is not wealth, But all wealth is capital.

(i) and (111] are correct (B) (i), (ii) and (iii) are correct
(if) and (iii) are correct (D) (i), (ii), (iv) are correct
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BRT - 1
135.CUm(ms5)5.

(a) Ggptﬁu_l @@&)LDILILJI‘I’IL@ @Qﬁﬂj (i)

oOame, 11

(b) 208 wssOFms Seoid (i)  gmereur, 25
©) 208 rwisMla; Hamp (iii) BeubLir, 19
(d)  GCsflw eurgsmren $ewtid (iv) Qeti_burm, 8

(@) (b) (c) (q)
A) (1) () (v (i)
(B) (iii) (i) (iv) (ii)
(€) @G) () (v (iii)
(D) (iv) (iii) (i) (1)
Match the following :
(a) National Integration Day (1)  July 11

(b)  World Population Day
(¢) World Literacy Day
(d) National Voters Day
(@) (b) (c) (d)
(A) () () (iv) (i)
(B) (i) () (iv) (i)
(C) (1) () (iv) (iii)
(D) (iv) (i) @) (i)
136. Blwredlen -1, 4Grr Hlene-I -
CaHos M :
(ﬂif}J E@f_)ﬁ@Lfﬂaﬁiﬂ - &Cam_iq e = Urr&aﬁlmsh - ;;L_g;p(ﬁmrn'_ma:ar - I_UJGDGSQGDT@GTL)
(B) QeouCLmeesnr — LTSSl —.nFGaiTl gt .@ﬁ@mﬁl;lam- - L_U.ItGU)SSQGt{Té]G{D
(C) enaCGariigenr - QaliGLmed — Ursdleer — me&@@@m i LoruCSGTTrL_Lngn
(D) wuGermlileer - Lweng6eardlen — GD)EG'BEI'I'I'_lq_GUT- - Ol GLmeer — UTGdiecr
Pick out the correct sequential arrangements of Meiosis-I Pr-opl?ase?l stage.
(A) Leptodene — Zygotene — Pachytene — D%plotene = D}ﬁnegs
(B) Leptodene — Pachytene — Zygotene — Diplotene — Diakinesis

iakinesi iplotene
todene — Pachytene — Diakinesis — Dip
%IC))] ;Iz):yivgfgf:zfe_—})%ipakinesis — Zygotene — Leptodene — Pachytene

(ii) January 25
(iii) November 19
(iv)] September 8

@ B CUME &nigWw Fflwmen PRBGWOD WS

137. Sigméem Geamairaig @apLl TR Garyd Shssam_surn @HésiLGans.

(A) ,H? + H2 - ,He* + on! + energy
(B) ?HQ + H3 - ,He* + on! + energy
(C) H! + |H3 - ,He* + On; + energy
4 + energy

. H2 + {H3 - ,He* + ¢on _ |

'[I‘]i)e filsion rleaction2 in the hydrogen bomb is represented as :
(A) o,H? + ;H? - ,He* + on! + energy
(B) ,H? + ;H3 - ,He* + Oni + energy
(C) H! + ;H3 - ,He* + gn' + energy
(D) ;H2 + H3 - ,He* + ¢n® + energy

' [ Turn Over
B
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138. sflwiment @)enessenul 1 AAEAC]

(A)
(B)
(C)

(D)

. - . in B - 1‘:" : ) 3 ]
Heured-G)-cllangs - ST sy aneadT DDILD i

é = Eﬁi‘l-@-&ﬁ@i‘u - euffey Lﬁii.l |[]Lb C.]'?O.JQ} ‘I;ILJ[T'IIJIL;H_“ enn
(5 =
ﬁ,-.nf.’-')[] &L C!L-I” 1 HL.JLHI' GTT'I.l

Hourrefl-F)-venws - Qeuaflymey wHmID
Hounedl-E)-Gemagn - @)yt Qumgumer

Find out the correct pair.

ge of Royal proclamations and Despatches

(A) Diwan-I-Wizarat - Inchar
(B) Diwan-1-Ariz . Incharge of Income and Expenditure
(C) Diwan-1-Rasalat - Incharge of ambassadors and cnvoys
(D) Diwan-l-Insha . Incharge of Army
139. eranucuit greuypdlen et 2B afluusn s, g wl HGW sry@mnd ereny
ellend i,
(A)  eument Q@mENDITEN - (B) Gggrau Lt sno a0l
(C) \Sc it umiisan - Ggenns et (D) . R eanm et
thought water alone was the cause of the increase in weight.
(A) Van Helmont I jcstley
(C) Peter Boysen - Jenson rwin

140. geupar saHe Qzflay Qaws.

(A)
(B)
(€)
(D)

gawred ecrenugy Wmgleuran hemwmren LeTUMEGED Fraur Fenpun@Ld.
eusdn, gerdfluygdr whmb Qewsdr sunfléas sard uweruBEns
sezad euany synaflune 24°C Qasliugpid 130 cm WwenPWETaD @ﬁ“‘muu@ﬂg@'

Z;ffn(ﬁ'f”“’“w Wl asQsiped araugy @ Har 2u@ud Gl

Choosec the wrong statement

(A)
(B)
(€)
(D)

Jute is a long shiny, soft, vegetable fibre,
Jute is used for making bags, carpets and yarns
Jute requi é -
QuIres an average temperature of 24°C and 130 cm rainfall

Jute Retung is a microbiological process
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141. QUTHESIS.
&eflit sevs STHM)|se SiewwedL_1p
(a) Bevl_re (i) Qreguwir
(b) |_;r°r<.93rr o (i)  wadu LMl Gasm
(c) el L b (iii) 2ATEyeran e

(d) wurmbuCGypr

(a) (b) (¢) (q
(A) (v) () (i) (i)
(B) () (i) (i) (i)
€) () (i) @)
(D) ) (i) Qi) (v
Match the following .

Cool Local Wind

(iv)  =pedian YrGseib

Location
(a) Mistral (i) Russia
(b) Purga (ii) Central Africa
(c) Harmattam (iii) Argentina
(d) Pampero (iv) Alps region

(@) (b) (c) (q)
(A) (v) () (i) (i)
B) () (i) (i) (iv)
(C) (i) (i) (iv) (§)
(D) (1) (i) (i) - (iv)

142. ugevmi Gumrflen QLTS QMHHS WPSOTL WEHTET WiTi?

(A)  (psMD aem apelb | (B) “e§mif-e. 55 Qg areom
(C) Qrewrmib agir <=6 (D)5 &b

Who was the Mughal Emperor during the Battle of Buxar 2
(A) Sha Alam I (B) Shuja-ud-Daulah
(C) Sha Alam II (D) Mir Qasim

143, QeneumeuameuMer eeul Lfls Gapur® Siders Gpmu -
(A)  B&ECLrCeomawm (B) wrmevioe

D) M&s e
(C) Quebevsym i not a vitamj(n )deﬁciency disease :
One of the following is (B) Marasmus

(A) Nyctolopia (D) Rickets

(C) Pellagra

: 0.001 M erafled senyseey PH sawsdNs.
l4q, @anL_Fréaman() jwelF Gxiin] (€) 11 0

(A) 3 | 1 ORI 0.0 (D) 13

The hydroxide ion concentration of so . M. What is the pH of the
e hydroxi

:::utjgn ? B 1 () 11 D) 13

[ Turn Over
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145,

146.

147.

148,

149,

150.

GenaumaimaupBlér Vit Bs o Ler Qgm_isoeons bl :
(A) ergubysafied sroflwn Gopur® (B) wodl

(C) GsraGrmi (D) muﬂmgu@ymg

Which of the following symptoms is not related to Vlté_unm B; ?

(A) Loss of calcium in bones (B) D_ementla

(C) Dermatitis (D) Diarrhoea

QALdvaflenws <y 8 Qewg GrreysHlyrser wri ? o
(A)  urersar (B) r&Gariser  (C) Gamoiser (D) Slpdlsmyiser
Which Rajaputra Kings ruled over Delhi ? .

(A) Palas (B] Rathors (C) Tomars (D) Prathiharas

sTOAS@mbs, oplrga, Bbalgen, sriLa-®L-gbms@ WHMHID &riue
CuorGanr wysemav® <y fiuauhan Af5Qs6&s LLETTLEL e :

(A) smlES eug sz (B) Denenm smiiss eulg s

(C) Bophs swsssd smiéd agsssd (D) U8 D& %56

Which method is used to separate Nitrogen, Oxygen, Carbon dioxide and Carbon
monoxide from air ?

(A) Distillation

(C) Distillation at low pressure (D)  Crystallisation

aerwra Gaon flaouugd e 2@psisunfeag Spssrenin U@ smen
2 areTL Adlug,

(A) Gggmit_mebr, erélig), moman

(B) eréliz), @evCra-uraeviani &

(€) Afwm, BlhuGré-unrasvgerin ﬁ

(D) erdlig, rrren, mprg

Fertile Crescent Region refers to the area covering :
(A) Jordan, Egypt and Iran

(B) Egypt, Israel - Palestine ang Iraq

(C) Syria, Israel - Palestine and Jordan

(D) Egypt, Iran and Irag

Blaaid Lsp@uin A
(A)  parf (B)

(B) Fractional distillation

erenm maifleh araruuB s

PET (C) Gumenit (D) Gueni
One of the most famouys Ziggurats is in the city of e =
(A) Ur ( Hosur (C) Porur (D) Melur
Sevararenwdladien 1pigefe) PO GERCHTE possmm 2 HeumdEn ATP STRewllGens
(A) 43 ATP (B) 38ATP (C) 30ATP
- - D
]iunng (ig;olyszs one glucoge vields number of A![‘P} o ATP
(A) 43 (B) 38 ATp (C) 30ATP (D) 45 ATP

-00o0-



@l me / INSTRUCTIONS [
[acuGTDNS LGSl S, Bi-dina| / READ CAREFULLY AND COMPLY)
(gl @yfiiinmen / IMPORTANT

Lo Ll 1o (Qlmy 1) eflcmeminagn Benentiip D ol cnr/iu i (i) i SminQaB g Qg 1-an ellarn b oot d}‘-‘-’“—“’"“""‘ (‘-'mml@m.

I Pt 10 (Langange 1) o canididate s 1o attempt the questions of 1he Bingunge whieh the candidite hins sebected as Lingaige 1R ll"l' AT’_"”““““" Form.
2. OMR e garelin, ol Gy aflens eranmes S EpEsa 3] i (et Bl gl eflinandiomeg Gy aflars @y Cequaiar(ib.
The candidate niust ensire that the Question Bookler Series Cade has leen filled cormectly o the preseribed places in the OMR Answer Sheet,

Lo bl enen ApLgELmIATE Lig SEIRAL 5 OMR aflmw igralid ) R ult u‘iu!nfn-ﬂg.n.g,rnﬁw aulleas eren 1 efnghmi 4 suemyuiloomat Mmd.u;.mnr
acuamens Blyouab, fad B AR &P e sflana apeapuilsh gaaudmenar Bgind, sadlujeerig mafumiu Flemeilig ey, o sl
chlanigarenar wBdE Qeinb Cung @Hu@iE dammaimen e frtiantar Qi efiag.

Rend complete insiruetions cutefully sl fill the details from S0 No, 110 4 i ihe OMR Answer Sheet and 51 No. 1 4 in the Questian Booklet. Iyou Inil 10

; il ”"'_'I"l“'l-" and sige as instrueted eorreetly, vou will be persanally pespansible for the consequences arising during seanning of your Answer Sheet.

2, Fﬂmﬂgﬁﬁlr@ﬂﬂm OMR cflen ganaflan eramenan .amhisa g (R G-l Tups Gauan(Gh,
OMR Sheet No, should lie written in the space provided in the Question Haoklet, .
3. @!bﬁ ‘ﬂw"ﬁgﬁng.(_u_:nma 180 eflennanenm 56 Lhmmaeii © s H e, eflermaGar @ i Gmen §pamionn SAGDHs-
silmemiugnTIRar clenraduroinda Al o L. apiflerraas dpda Cuan@b. slang Garginder wisn 3 dmbs 52 217
:@‘—'—D Qlﬂl@ﬂﬁ'ﬂ'ﬁwﬁﬂr aran afluin e, )
The Question Booklet comprines 56 pages having 150 questions. After being instructed ta onen the Booldet, only then (he condidate will apen the Quesdon
Huoklet seals, Chieek whether the Fooklet contains 150 Questions starting [rom Page No. 3 10 52, "
4. imongm eilanniaebeb ubloLaima alamisd. galamm demspEn gErung sfwuna dia ol GG ramg gaeang cllamsd o
G oG, papran el agnbe uOGURTEIT GPDEsUIL DILLIE.
All questions are of MCQ (Multiple Choice Questions] type. There is pnly one correet answer 1o cach question carrying ene mark. There will by uo
negative marking for wrong answers. :
5. S ugHeaelles emm Cunf damanmen Cancm ugd - 1 LHpID Ugd - I md melly, Siwanis chenmhmesd@d Smbonfnaida
SruU(Beraman,
All questions other than langusge questions of Parts I and 111 shall be bilingual. o
6. clenn(ka) -Ed paupad @b, ofenam ILBTIISAT SIBHETS Grs gaeinenemT b (i L rise sraflgyb. CaralaGurg @Hs allen (&a&e)
ol @ainudiu wrlers .
In any event of any mistake in any question/s, candidates will not be penalized. Hawever no corrertions will be made in question/s during the examination.

7. Aara@rrmiifa Qeimy uriiugnQes gelurs prood Gaen FepdGatu Qg urmdes GauenGio. G ey QuuslAaimpa Aflbas
Bl M) (BB BITCTEGT 6T a0 GpMISLILIL LOF LTSl
Rough work, if any, may be done in the Question Booklet only in the space provided at the end of the Booklet, Do not tear it off from the Question Hooklet.
Mo additional paper shall e prnvid.!\d.

B, DLAmS S, B, seraylerd, GiomamLi, O realiu, Cogh g Gl pns @iltCum b b e pstans et angen s B
LU fa peen Qoo Gy, Gaigep vwiubiferd @ 5 Db b S U A,
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OMR Answer Sheet will be provided along with Question Bocklet separately.
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Write your Roll No, OMR Answer Sheet No. Question Booklel Series Coie,, Name and put your Signature, Optian made under Language = 1 in the
space provided in the Question Hocklet as well as in the OMR Answer Sheet.
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Examinaion 1all, The candidate ixallowed to take the Question Booklet :,it:' mm::’:’ s e Invigilatar before leaving the

15, paupis gl QeiuiuBGib | Qe mad o drar OMR cllen da s ucnad @@pkaluBib.
Marks will L dedueted if the OMR is illed up wrongly /unfilled. BT ST Lo

it GeranlEr,
150 cllardas




